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\begin{question}

Evaluate the integral~:

\[

\int {-1}"{1}x~{O0}\text{ d}x.
\]

\begin{choices}
\correctchoice{2.0}
\wrongchoice{0.0}
\wrongchoice{1.0}
\wrongchoice{None of the above}
\end{choices}

\end{question}

\begin{question}

Evaluate the integral~:

\[

\int {1}"{1}x*{3}\text{ d}x.
\]

\begin{choices}
\correctchoice{0.0}
\wrongchoice{0}
\wrongchoice{$\infty$}
\wrongchoice{None of the above}
\end{choices}

\end{question}

\begin{question}

Evaluate the integral-~:

\[

\int {1}~{2}x~{1}\text{ d}x.
\]

\begin{choices}
\correctchoice{l.5}
\wrongchoice{0}
\wrongchoice{3.0}
\wrongchoice{None of the above}
\end{choices}

\end{question}

\begin{question}

Evaluate the integral-~:

\

\int {3}"{3}x~{1}\text{ d}x.

\]

\begin{choices}
\correctchoice{0.0}
\wrongchoice{0}
\wrongchoice{$\infty$}
\wrongchoice{None of the above}
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\end{choices}

\end{question}



